<% I_I n N 5 n 0301218082 HANSARONDA - Washbasin faucet
EAN: 4015474684232
static.hansa.com/0301218082
e Washbasin e Single operating lever/handle, Hot/Cold symbols
e Single-lever e  Pop-up waste with draw-rod
e Deck mounted e Non-return valve(s)
e White e Copper inlet pipes
e Fixed spout, Pull-out model
"— 100 —»f
N
132
24° | 62
@35 ‘
 J
4-28
L )
139 ——»
;%3;
| .
35-50
v L]
355
Gli/4 L
max. 180 —
F) @10
Technical data
Technical properties

DN-size (nominal dimension)
Hot water supply

Working pressure
Connection size

Projection

Backflow prevention (EN1717)

Material

Regulations

EN standard

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

DN15

max. +80°C
0.5-10 bar
010

139 mm

EB

Brass

EN 817

112


https://static.hansa.com/0301218082/en

< HANSH
N
Spare parts

raIE ‘

ALY

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

SP03012180
Name

2 Covering cap Chrome/Satin Discontinued
2 Covering cap

22 Fixing sleeve

3 Eye screw, M50x1, SW45

4 Cartridge, 4.8 eco

41 Hot water limiter

51 Knob Discontinued

52 Swivel joint

53 Gasket, 37x48x3.5

5.4 Fixing plate

55 Screw, M8x1, SW13

5.6 Fixing set

58 Pipe Discontinued

6 Pull-out spout Chrome/Gold Discontinued
6.1 Aerator, M24x1 STD CC A Edelmessing Discontinued
6.1 Aerator, M24x1 STD HC B

6.2 Aerator, M22/M24 B

7 Hose, L=1200, M20x1,5-M14x1

7 Shower hose, L=1750 Discontinued
71 0-ring, d 16x2

72 Passing-through bushing

73 0-ring, 5.70x1.90 Discontinued

74 Retainer

75 Non-return valve

76 Nipple Discontinued

8 Pop-up waste

8 Pop-up waste Satin Discontinued
8 Pop-up waste White Discontinued
NI Non-return valve, M16x1/M14x1

Code
59906564
59906563
59906695
59904775
59904601
59904759
59910230
59904624
59911422
59904765
59904766
59910749
59910651
59911600
59906580
59905830
59905901
59906726
59910038
59906703
59911625
59902332
59906600
59905714
59910802
59904620
59911442
59911443
59913418

212



